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STATISTICS

(Honours Generic/Regular)

Paper : STA-HG-1016/RC-1016
( Statistical Methods)
Full Marks : 60
Time : Three hours

The figures in the margin indicate
full marks for the questions.

Answer either in English or in Assamese.

1. Answer the following as directed : 1x7=7

wore TR ol Tes fwa ¢

(a) If a constant value 30 is substracted
from each observation of a series, the
mean (AM) of the series is

< RNF evere WS A9 30 Rt IR,
(HTICHR TG Ty

(i) increased by 30
30 Rz T3

Contd.



(ii) decreased by 30

30 ¥4 %7

(iii) not affected

@I AR 7z

(iv) zero

o

(Choose the correct answer)

(o Cewcor AR Gfaredn)

(b) The geometric mean of four values

2,2,0,4 is
2,2, 0, 43 WG M4 2= l

(Fill in the blank)
(3T 21T 779 F)

(c) State Newton’s backward interpolation

formula.

TIEORR ~reomai Srecie et feai|
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(d) The data which have already been
collected by someone is called

o A TS e IR (A SRS

R =

() primary
33

(ii) secondary
¢

(iii) quantitative
AR

(iv) array
SIS

(Choose the correct answer)

(i Cesehl qIR T1s)

(e) The first three moments of a
distribution about the mean x are 0, 4
and 0. The distribution is !

(Fill in the blank)

T @B 3T W AT SR 30 0, 4
i 0 37 (90T ITACH! 77|
(T 312 779 )
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(f) For a skewed distribution mean = 6,

median = 5, find the value of mode.
@B T 9599 9T = 6 Wi TGW = 5, (o
ITTH T Bferaay |

(9) The correct relationship between AM,

GM and HM is

TG MY, STAGT N S 2T TG T
ASE T B Shew |

(i) AM=GM = HM
(i) GM=HM >AM
(i) HM>AM > GM

(iv) AM>GM > HM

(Choose the correct answer)

(7 Tevch! AR e
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2. Answer the following : 2x4=8

woe faaRe Tea WAl ¢

(@) Write down one merit and one demerit

of AM.

TS YR 957 @9 % 57 (A 4l |

(b) State the properties of correlation

coefficient.

ALATF QNI OTR fordf |

(c) Define contingency table.

FBCaR eIl e T3l

(d) Derive the relation between the

operators A and E.

A EF E SIE09 WEd ToF afom 1|
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3. Answer any three questions : 5x3=15
Ricerea fofabr e Teq fos ¢

(a) State and prove Newton’s forward
interpolation formula.

fAEoAa Sl T7@ch! il = el 4 |

(p) Show that standard deviation is
independent of change of origin but not
of scale.

e @ A Roem FaRve es<e
[EERIGIGEL B W& G RIS E R [ERIVT
8o ST |

(c) Define a statistical table. State the
essential qualities of a good table.

ARRREE e e e | 94 S FRAR
ST SARET 95 4 |

(d) What is an index number ? Explain the
role of weights in construction of price

index number. 1+4=5
I WA 2 T IS 1570 Ol
Corifirer REa fori|
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(e) Explain Newton-Raphson method.
fOo-=5 si@ioce! 2 T |

4. Answer either (a) or (b): 10x1=10
(a) ' (b) S Teq 41 ¢
(@ (i) Given below is the distribution of

120 students marks obtained in a
certain examination :

A5t AFS 120 T QAR (AR THFPTIR
oo Wl SR 2

Gl 10-20 20-30 30-40 40-50 50-60 60-70 70-80
(R wwA)

No. of students 25 20 15 25 15 10 10
(9 )

Calculate mean and standard deviation.
3+4=7

ﬁ@=sm@snw$1%saaiﬁ¢azwal

(i) Find f(z) from the following data:
3

oo S o[ f(z) Wda w8

X T2 Ta3ned
)3 21
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(b) (i) With the following data, calculate
Fisher’s index number :
O SR 291 IR ppic Mol v g
(Consider 2000 as the base year)
(Roco 57 fofa 37 f2p1a sioy aﬁim)
Year (34)-2000 Year (39)-2023 7
Commodities | Price Quantity Price Quantityw
® bl ofeie T offaatl
(in Rs.) (in kg.) (in Rs.) (in kg
A 2 8 4 16
B 5 10 6 5
6 1 14 5 10
D 2 19 2 13
6
(i) Define Skewness. Discuss the
utility of skewness in statistics.
4
SRS ke | siResg) Res

BRSS! e 5 |
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S. Answer either (a) or (b) : 10x1=10
(a) 9 (b) BT T 9 ¢

(@) () Suppose the relationship between
X and Y is defined as—

X 9S Y 9% woTe A &=t W &
BT
Y=a+ bX

Derive the two normal equations
using method of least squares.
6

(O Povon 6l AR ey
T 161 Bfened |

(i) Prove that correlation coefficient
is the geometric mean of regression
coefficient. 4

SR PN (@ OTTTAF @RS (20RO
TR SN STAGT N4 |

(b) Derive the general quadrature formula
for equidistant ordinates. Hence derive

Simpson’s —glth rule. 6+4=10
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el CPRICEDIN Te! Sted! T TR #H
e S v SfAedll

6. Answer either (aj or (b): 10x1=10
(@) T (b) S TEL T 8
(@) (i) Evaluate (Sferea)

dx
1+x

2

O ey

by using Simpson’s —é—rd rule.
6

oo & of IS A

(i) Given (a1 @)

(A) =90, (AB) =40, N=150 and
(B) = 80. Prepare the required
contingency table. 4

SIS FOrE ™ SifFre! 8ge T4

(b)) (i) Find the coefficient of variation
from the following data : 4
oo B ~al R @Al e 4 8

58, 69, 60, 54, 65, 52, 75, 79

3 (Sem-1/CBCS) STA HG/RC/G 10



(i) What are the relative measures of

dispersion ? Discuss. 4
TR SICATRS AR & R 2 Sttt
01

(i) Discuss any two problems faced

in construction of index number.
2

SIS NN IR 757 T SAITama
3 |
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